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1] Choose the correct option (1x15=15)

1) A square matrix 4 is called singular if -

a) |A|>0
b) |A| <0
c) |Al=1
d) |A|=0

AdjA
2) T =
a) AT
b) A1
c 4N
d) (A7)

3) Which of the following statements is false -

a) A H1=4

b) (AN =@ DT
Al A=A-A1=
d) (4B)1=B1-471

yia=[5 "Pthenat=>

1[ 8 5
a) E[_g _5]
18 5
b) 5[8 5
1[—8 -5
©) E[—s -5
d) Does not exist.




(g]
—

(="
—

a) -A
b) A
c 1
d) None of these.

7) IfA=diagla b c),wherea,b,carenon zerorealnos. ; thenA1lis—

a) diag(a=* p=' ¢V

b) diag(bc ac ab)

c) £
|A|

I
d)m

cos20 —sin20
sin20 cos 20

8) If A =|

], thenA1=7

a) -A

b) AT

) (AT

d) None of these.

3 -3 4

9) The adjoint of the matrix [2 -3 4|is—
0 -1 1

a)




3 2 1
The inverse of the matrix |4 -1 2 |is-
7 3 -3

—3
26
19
-3
26
19
~3
26
19
~3
26
19

11) Which of the following systems of equations is consistent ?

i 3x+4y+7z=1,x+2y+3z=1, 2x+3y+5z=1
ii. x+2y+z=7,x+3z=11, 2x—-3y=1

a) Onlyi

b) Only ii

c) Bothi &ii

d) None of these.

12) Which of the following systems of equations has
infinite number of solutions ?

i. 2x-3y+4x=7,3x—4y+5z=8,4x—-5y+6z2=9
ii. 3x+4y+5z=2,x+2y+3z=1,5x+6y+7z=3

a) Onlyi

b) Only ii

c) Bothi &ii

d) None of these.

10! 11!
13) The value of (11! 12!
12! 13!

a) 10 x 11 x12

b) 10! x 11! x 12!

c) o0

d) 2(10! x 11! x 12))




sinx cosx tanx
f(x) _ 9

—| 43 2 im 12
14) If f(x) x x x | ,then lm(} 2

2x 1 1 x=

a) -1
b) 1
c) 0
d) -2

15) If two rows (or two colomns) of |4| are identical , then |4| =?
a) 1
b) -1

c) 0
d) 2
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